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S.Y.J.C ( Prelims Exam)

Subject: English  Marks: 80 Date : 6-01-2024 (Duration 3.00 hrs)

SECTION 1 : PROSE
(Reading for Comprehension , Language Study, Summary and Mind mapping)

Q.1- (A) Read the following extract and complete the activities given below: (12)

We travel, initially, to lose ourselves: and we travel next, to find ourselves. We travel to open our heart
and eyes and learn more about the world than our newspaper, to those parts of the globe whose riches ar
differently dispersed. And we travel, in essence, 1o become young fools again to slow time down and get taken in
and fall in love once more, The beauty of this whole process was best described, perhaps, before people even tool
to frequent flying. by George Santayana in his lspidary essay, " The Philosophy of Travel”. We "need sometimes,
the Harvard philosopher wrote,” to escape into open solitudes, into aimlessness, into the moral holiday of running
some pure hazard, in order to sharpen the edge of life to taste hardship, and be compelled to work desperately for |
moment at no matter what,"

Few of us ever forget the connection between " travel” and travail", Travel in that sence guides us toward
2 better balance of wisdom and compassion of sesing the world clearly, and yet feeling it truly, For seeing withou
fecling can obviously be uncaring : while feeling without seeing can be blind. Yet for me the first great joy o
travelling is simply the luxury of leaving all my belicfs and certainties at home, and seeing everything | thonght
knew in a different light, and from a crooked angle,

Though it's fashionable nowadays to draw a distinction between the " tourist" and the " traveler"{ perhap
the real distinction lies between those who leave their assumptions at home, and those who don't. Among thoss
who don't a tourist is just someone who complains, " Nothing here is the way it is at home," while a traveler is on
who grumbles, " Everything here is the same ag it is in Cairo-or Cuzeo or Kathmandu." It's all very much the same

But for the rest of us, the sovereign freedom of travelling comes from the fact that it whirls you around anc
turns you upside down, and stands everything you look for granted on its head. if a diploma can famously be
passport{ to a journey through hard realism), a passport can be a diploma( for a crash course in cultural relativisin)
And the first lesson we learn on the road, Whether we like it or not, is how provisional and provincial are the
things we imagine to be universal.

A-]1 Read the following sentences and state whether they are true or false : (2)

* According to the author people travel because they don't know what to do with their time.

* Travel makes us more compassionate fowards the world.

*We travel to slow down time

*A diploma certificate can be used a passport
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A-2 Complete the web on the advantages of travelling. (2)

ﬁwonmouiﬁg

—

Advantages of travelling

f L

A3- Give reasons: 2)
We travel to open our hearts and eyes and leam more about the world than our newspapers accommodate. expl

in not more than 50 words. ﬂ

A Personal Response - (2)
Write in about 50 words about your visit to an interesting pluce.

A.5 Do as Directed : (2)

i) We travel to lose ourselves. (Replace the infinitive with a gerund and rewrite)

if) Travel guides us to a betier balance of beauty and compassion. {Rewrite the sentence using " not only ...
alsa")

A.6- Vocabulary (2)
Find a word from the extract which means the following :

1) Basic or most important quality of something

1) A danger or risk

B.1 Non-Textual Grammar: (3)

Do as directed - “x
1) We can accept our Jife gracefully. (Rewrite using modal auxiliary showing" Compulsion”)

ii) Japanese toys are more educational than Indian toys.( Change the degree of comparison)

ii}) The husband said to his wife, " Will you pardon me for bringing you to England? (Rewrile the sentence i
indirect speech)

B.2- Spot the error in the given sentence and revrite (1)
I) 1 entered the room for search the document,
Q.2- (A) . Read the extract and complete the activities given below : (12)

World peace-keeping is one of the fundamental human responsibilities. All countries and continents around the
world should refrain from any kind of warfare with neighboring or any other country and maintain good and
friendly relations with each other.

Each year the International Day of Peace is observed around the world on September 21. The UN General
Assembly has declared this as a day devoted to strengthening the ideals of peace, through observing 24 hours of

non-violence and cease-fire .
©



But achieving true peace entails much more than laying down arms. It requires the building of societies where all
members feel that they can flourish. It involves creating a world in which people are treated equally, reg:;rdIcsg of
their race, class or creed,

When we hear about war, we think of something really far away and movie like. but war is real and has many,
many consequences: people lose their belongings, their families , their lives and everything they know of. Those
that suevive have to choose between living in fear and suffering because they are surrounded by violence, or have
abandoned everything they know, even their families, and risk everything so they can hopefully move to another
couniry. :

The recent ongoing Russia-Ukraine ward is an example of such political tension between the cross-border
nations. As a result of which , many innocent lives are in danger or have even ended. Today, the entire world is
divided into two groups- one group of nations supporting Ukraine and the other group supporting Russia, In this
way, an unofficial global war has already started which is causing heavy economic loss lo people worldwide,
directly or indirectly. The cost of petroleum and cooking gas has alarmingly become high. This is adversely
affecting the common people of society. Thus it is always better to maintain global peace because war gives
nothing to anyone anywhere.

A.I- Select and write down two sentences that accurately depict the main ideas from the extract - (2)
* World peace is necessary for mankind and society to flourish

* World peace is a dream that mankind can never achieve.

¥ Conflicts between any nation or groups cause repercussions all over the world.

* Common man is least affected by conflicts.

AZ2- Write down in not more than 50 words the impact a conflict or war has on common people, (2)
A.3- Acheiving true peace involves much more than laying down arms' This statement from the extract implies
that. (Write in about 50 words) (2)
A4-"An eye for an eye makes the whole world blind". Write down your opinion on this statement in not more than
50 words, (2)
AS- Language study:

* All Countries should refrain from any kind of warfare. ( Use a modal auxiliary showing certainty ands
rewrite the sentences) (2)
* The entire world is divided into two groups by war (Change the voice)
A6- Vocabulary:- (2)

Find a word from the extract which means:

Basic and essential

1o stop fighting
Q.2- B- Summary Writing- (3)
Write a summary of the above extract with a suitable title with the help of the points given below;
(Global peace fundamental responsibility- refrain from war-impact of war -need for peace)

A



Q.2- C Mind Mapping-
Develop o mind map frame/design on the topic” Benefits of reading” expressing and presenting your
Q.3- A Read the following extract and complete the activities given below.
When | had money, Money, O!
I knew no joy till I went poor:
For many a false man as a friend
Came knocking all day at my door.
Then felt I like a child that holds
A trumpet that he must not blow
because a man is dead: | dared
Noi Speak 1o let this false warld know.
Much have I thought of life, and seen
How poor men's hearts are ever light:
And how their wives do hum like bees
About their work from morn til) night
Sa, when | hear these poor oneg laugh, ﬁ\
And see the rich ones coldly frown
poor men, think 1, need not go up
So much as rich men should come down
When 1 had money , Money, 0!
My many friends proved all untrue:
But now I have no money, O!
My friends are real , though very few,
A.1- State whether the following statements are true or False : (2)
a) The speaker had many false friends when he had money.
b) The speaker compares his situation (o a child that holds a book and cannot read,
¢) The speaker says that poor men and theird wives are very happy at heart.

d) According to the speaker the poor men need 1o come up to the level of the rich men. D
A.2- The speaker says that he has genuine friends now though he has no money. State the reason for 1
statements in not more than 50 words, (2}
A.3- Money is not at all important for human happiness. Write down your opinion on his statement in not m
than S0 words. (2)
Ad- Name and explain the figures of speech in the following lines: {(2)

a) When | had money, money O!

b) Poor men, think I, need not go up.

A.3- Compose two poetic lines in continuation to the following lines : (2)

When I had money, Monsy, O!
I knew no joy till I went poor:




Q.3- B- Appreciation :- (4)
Write a poefic appreciation of the extract given below:
Weavers, Weaving al break of day,

Why do you weave a’gmmmi so gay?
Blue as the wing of a halcyon wild,
We weave the robes of a new-born child.
Weavers, weaving at fall of night,
Why do you weave a garment so bright?

Like the plumes of a peacock, purple and green,
We weave the marriage-veils of a queen.
Weavers, Weaving solemn and still,

What do you weave in the moonlight chill....
White as a feather and white as a cloud,

é We weave a dead man's funeral shroud.
SECTION III
WRITING SKILLS
(Q.4- Complete the activities as per the instruction given below: (16)
} Attempt any ONE of the following activities,
| A-{Draffing virtual Message | ()

Read the given conversation between Ryan and Mrs. Pinto

Ryan : Hello, May | speak to Mr. Pinto ?

Mrs. Pinto: He has gone to the hospital to attend the OPD. May 1 know who is speaking?

Ryan - Yes, | am Ryan D'Souza, My wife has been having a severe headache since yesterday. Since This mory
A she has also developed high temperature. 1 would be very grateful if the doctor could come to our place to exan
N her.

Mrs. pinto : OF Course, Please Let me note down your address.

Ryan : It is B-49, Star Arcade, New Colony, Delhi.

Mrs . Pinto : 1 will give him your message as soon as he returns

Ryan ; Thank you.

Mrs. Pinto had to leave for the school where she teaches. So she wrote a message for her husband. [
the message in not more than 50 words.

Statement of Pu:posé

OR
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st hav aim in Tife and the university you would like to Join for 3
programme. Write a statement of purpose as part of your application to the University,

IGmup Discussion |

Rohit, Jolin, Glary, Mary have participated in g group diseussion, The topic given to them is * Deforestatic
Construction of Roads' You may use the following points:
= Climate Change
- Replacement of cut trees
- Man's greed never ending
-Loss of fauna
B- Attempt any ONE of the following activities
[Emar) (4)
Write an e-mail to the Commissioner of Municipal Corporation of your city complaining ahout
ieregular supply of water in your locality.
OR L

OR

[R._q:un Writing
Write a news report on the following headline with g dateline, Lead/intro paragraph and short continuing paragr,
* City college organizes Bird exhibition,
OR

Intervie
* Your college has invited a dietitian on the oceasion of ¢ World Health Day’ lmagine you are the editor
your College magazine, cond ucting an interview of the dietitian. Frame a set of 8 10 10 question.
C-* Attempt any ONE of the Following.
Errparing A speech (4)
* You wish to take in an elocution contest organized by the Rotary Clyb of your town. One of the Topic
" Save water, Save life.’

Prepare a speech on this topic in about 100 words, Use the following Points:

*Use Oof warer

*Problems of drought

*Solution to the problems.

OR

Compering
* Imagine that you are a compere of the * Annual Prize distribution Ceremony" in your college. Write a script for
the same. You can take the help of the following points: (4)

* Introduction- A brief introduction of the :
* welcome Speech- Welcome of all the guests: felicitation of the guests (Psi neipal, Vice-principal ete.)

* Lighting the lamp
©

* Speech by the Chief Guest



* Main Events
*Vote of Thanks
OR

rE;pmﬁnn of ldeas
* Expand the Idea inherent in the following proverbs/quotation:

* Manners Maketh a man
D- Anempt any One of the following (4)

Review

* Write a review of a book you have recently read. You may use the points given below.
- Importance of the title
- Plot annlysis
- Characters and characterisation
- Central idea or theme
- Special features
OR

o [Blog Writing.

- Write a blog on " Cleanliness' in the proper format with the help of the following points

- Dirty surroundings
- Laziness of public
- Solutions
OR
! Appeals i (4)
* Prepare an uppeal to make the general public aware of the need for "Eye Donation" Make use of the followir
points:

*Prepare an attractive slogan
* Make a persuasive appeal

* Mention the importance of eye donation

i * add your own ideas
SECTION [II: DRAMA
Q.5- A Complete the following activities as per the instruction given (4)
|- Match the columns (2)
Column A Column B

Epistolary Supernatural and haunted buildings

Giothic Adventures of a rogue prolagonist

Allegorical Narrated through a series of documents

Picaresque Story bears more than one level of symbolic

meaning

@,



2- Pick miﬂdd one put : (2)
|- Mary Shelly, Radcliffe, Daniel foe, Agatha Christie A\

2. E.M. Forster. James Joyce, Joseph Conrad, John Bunyan N
3- Anita Desai, Nayantara Sehgal, Arun Joshi, Charles Dickens
4- Historical, Autobiographical, Bildungsroman, Emotional
Q.5- B. Answer the following question in about 50 wards: (4)
1- To Sir, With Love is an autobiographical novel.Justify this statement. (2)
2.The narcator in the novel " To Sir, With Love' says that Miss Euphemia Phillips Proved 10 be the coolest anc
best informed at the half yearly report presentation. Explain. (2)
Q.5- C. Answer the following questions in about 50 words: (4)
1- In the novel " Around the World in Eighty Days" Passepartout is indeed a loyal friend to Phileas foge Comnn
on this Statement. (2)
2- Describe the character of Detective Fix. (2)
ﬂ
Q.5- D. Answer the following questions in about 50 words: (4)
1- Describe the character of " Mary Morsten" from the point of view of Sherfock Holmes. (2)
2- Write dawn about the central idea of the novel” The Sign of Four' in not more than 50 words. (2)
1
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Preliminary Examination 2023

L SY.I.C. Max, Marks 50
" Time: 180 mins: SERamatics & Statisties (95) . Date: 04/ 01 /2024

General Instruction:

1] All guestions are compuisory

2| There are 6 guestions divided into two sections.

3 Write answer of Section | & Section 1f in the same answer book.

4} Use of algorithmic table is allowed. Use of caleulator |s not allowed

5) For L.P.P. graph paper is not necessary, Only rough sketeh of graph is expected.

6) Start answer o each gquestion on 2 new page. .

7] For each multiple chaice type o question, it is mandatory o write the correct answer along with its alphabetical letier
= 3 1 Al B il |- { Ad). NO mark{s] shall b given if “ONLY" the correct answer or the siphabet of the
correct answer is written. Only the first arternpt will be considered for evaluation.

: SECTION -1
Q.1 A) Select and write the correct answer of the following multiple choice of questions
. (1 mark each) 6
~ i} The dual statement of the statement [p ¥V q) A (rV s)
' a) (pag)Afras) b)(pAgVIirAs)
¢ pvg Vvirvs djfrvsja(pva
5 f Vitxdr=
x 2 2
n}%-."1+1’+t: b) 53[1+.r]a +c c)ﬁ+c d)—%[l+£]3 +c
i) The negation of the proposition “If 2 is prime, then 3 is odd”, is
a) If 2 is not prime, then 3 is not odd. b} 2 is prime and 3 is not odd.
¢) 2 is not prime and 3 is odd. d) If 2 is not prime, then 3 is odd
2
. - . dy B rdly ‘
iv) The order and degree of the differential equation [1 + ( de ] =8 (ﬁ) are respectively
{a) 3, 1 (b) 1,3 (e} 3,3 (d)1,1
v] The area of the region bounded by the curve y = x>, x = 0,x = 3and X-axis is
2 (a) @ 5q. units (b) 2 squnits (o) T 5q.units (d) 18 sq. units
: ] '
. Solution of t&equation x et Al
W fa) y = ae* (b) y = be** (¢} y = be™™ (d) y=e™
B)  state whether each of the following statements are True or False (1 mark each)
i} If{x) >0 forall x € (a, b), then f{x] is decreasing function in the interval (a, bJ.
i) Iff(x) = k, where k is a constant, then [kdx = 0.
iii) If A and B are comfortable for the product AB then (4B)" = ATB" 3

C) Fill in the following blanks {1 mark each)

i} If'pvqis true, then the truth value of ~p A ~q is

ii SR = 3
] y (r+3)ix+3) dx ’3 ; x {x+3)
i) Matrix B = i—3 0 —4| is skew symmetric thenvalueaf pis __
r 4 0 3

lof &



0.2

Q.3

1ii)

ii)

iii)

i)

iif)

c)

Attempt any TWO of the following (3 marks each)

Write the converse, inverse and contrapositive of the statement,
M2+5=10,then4 + 10=20"
A5 4

e 12 =
.y (x+ ) thmshowtﬂardx =

Evaluate: [

T+ag—x "
Attempt any TWO of the following (4 marks each)

Using the truth table, examine whether the following statement palterns are tautology,
contradictions or contingency. [(~pA g A (g A )] A (~q)

Solve the following equations by reduction method:
x+2y+z=8, Zx+3Iy—=z=11, 3x—-y—2z=5

For manufacturing x units, labour cost is 150 = 54x and processing cost is x*. Price of
each unit isp = 10800 — 4x°. Find the values of x for which.
1} Total cost is decreasing 1] Revenue is increasing

Attempt any TWO of the following (3 marks each)
01 2 1 x+1
Find x; yand z, if lﬁh ﬂl- [3 —EH[ﬂ-—— [J"‘l]
1 1 3 3z

A rod of 108 meters long is bent to from rectangle. Find its dimensions if the area of
rectangie is maximum.

Evaluate: J- x. logx dx

Attempt any ONE of the following (4 marks each)

Find the particular solution of the differential equation
(x = y*x)dx = (y + x*y)dy = 0, when x = 2,y=0

Find the inverse of the matrix A by using adjoint method,
-3 =1 1
where A = I 0 0o 1 ]
~-15 & =6
3 4
Evaluate [ logxdx,
Attempt any ONE of the following questions [Activity)

Complete the following activity to find MPC, MPS, APC and APS, if the expenditure B,
of a person with income I is given as:

£, = (0.0003) 1* + (0.075) 1
when | = 1000

Solution: Given E, = (0.0003) I* + (0.075) 1
we have APC = ET

At 1= 1000, APC = =

20f6



Q.4 A)
il

i)

iii)

vi

Now, MPC = &)

At 1= 1000, MPC=__
At 1= 1000, MPS = N
At 1= 1000, Lt

In a certain culture of bacteria, the rate of increase is proportional to the number
presen:. If it is found that the number doubies in 4 hours, complete the following
activity to find the number of times the bacteria are increased in 12 hours.

Solution: Let N be the number of bacteria present at time .

Since the rate of increase is proportional to the number present.
d?;'“ =K - where K is the constant of proportionality.

Integrating on both sides, we get

log N = K FC o)

(i) [ft=0then N =Ny
from equation (I);
log Ny =0+ C
=~ C=log Ny

(i) Ift = 4 hours then N = 2 N;; from equation (I);
K=

{ii1) When t = 12 hours
N"_,_ﬂn

SECTION - 1I
Select and write the correct answer of the following multiple choice of questions (1
mark each)

The difference between face value and present worth is called .
(a] Banker's discount {b) True discount (c) Banker’s gain (d) Cash value

by, is
{a) regressioncoefficientof yonx (b)  regression coe fficientof xony
(c) correlation coef ficient betweenx &y (d) covariance between x and y

is a series of cash flows over a limited period of time.
(a) Policy value (b) Annuity (c) Present value {d) Future value

Quantity index number by weighted aggregate method is given by
giw QW Epyw Ipow
(a) z;;; X 100 (b) 275 X 100 (€) §o. X 100 (d) Toaw 100

If the corner points of the feasible region are (0,0}, (3,0), (2,1) and 0, 7/3) then maximum
value of Z = 4x + 5y

(a) 12 (b}13 @3 (d) 0

The complicated but efficient method of measuring trend of time series is
(a) graphical method (b) method of moving average

(¢} method of least square (d) method of addition



Q.5

i)

i)

iii)

State whether each of the following statements are True or False (1 mark each) !

The banker's discount also called true discount.

Laspevre's Price Index Number uses current year's quantities as weights.

To convert maximization type assignment problem into a minimization problem, the

smallest element in the matrix is deducted from all elements of matrix. <
Fill in the following blanks (1 mark each)
A wholeseller allows 25% trade discount and 5% cash discount. The net price of an article
marked at 1,600 is :
Walsch's Price Index Number is given by
Graphical solution set of the inequations x 2 0andy < 0lies in ____gquadrants
Attempt any TWO of the following question (3 marks each]
For & bivariate data: 3
Y(x = £°% = 1200, Ely~ 7)* =300, L(x; — ©)0y = ¥) = =250, .
Find : (a) by, (bl by () correlation coefficient between x and y
The following table shows gross capital information (in Crore ) for years 1966 to 1975

Years 1966 | 1967 | 1968 | 1969 | 1970

Goss capital information | 20 25 25 30 as

Years 1971 | 1972 | 1973 | 1974 | 1975

Goss capital information | 30 45 40 55 65
Obtain trend values using 5-yearly moving aveérages. 6
An agent places insurance for ¥4,00,000 on life of a person. The premium is to be paid
annually at the rate of ¥35 per thousand per annum. Find the agent's commission at 15%
on the premium,.
Attempt any TWO of the following questions: (4 marks each)
Solve the following L.P.P. by graphically method:
Maximize z=4x+ 6y A
Subject to 3x+2y=12,

x+y=4,
xz0, y=20.

A marketing manager has list of salesmen and terntories. Considering the travelling cost of
the salesmen and the nature of territory, the marketing manager estimate the total cost
per month (in ¥thousand) for each salesmen in each territory. Suppose the amounts are as
follows:

Territories
Salesmen =5 TH TV [V
P 11]16|18|15] 15
Q 7 1811|1317
R 9 |6 |14]14|7
s 312171113

Find the assignment of salesman to territories that result in minimum cost.

dof 6



1ii)

1)

~ i)

The probability distribution of a discrete r.v. X is as follows:

X 1 2 3 4 5 6
P{X=x) K |2K 3K aK 5K 6K
(a) Determine the value of k.  (b) Fine P (X<4] (PR2<X<4j

Attempt any TWO of the following questions (3 marks each)
An agent was paid 88,000 as commission on the sales of computers at the rate of 12.5%.
if the price of each computer was ¥32,000 how many computer did he sell?

The publisher of a magazine wants to determine the rate of increase ber of subscribers.
The following table shows the subscription information for eight consecutive years:

Years 1976 | 1977 | 1978 | 1979 | 1980 | 1281 | 1982 | 1983
No of subscribers (in millions) | 12 Il 19 17 15 18 20 23
Fit a trend line by graphical method.

Is x follows Poisson distribution such that P{x=1) =0.4 and P(x=2)=0.2, find the variance of
s

Attempt any ONE of the following (4 marks each)

From the following data, find the regression equation of y on x and estimate y when = = 4
X 1 2 3
Y 2 1 6

Calculate the cost of living index number for the following data by aggregative expenditure
method:

Base Year Current Year
Qronp Price | Quantity | Price
Food 120 15 170
Clothing 150 |20 190
Fuel & lighting | 130 | 30 220
House rent 160 | 10 180
Miscellaneous | 200 |11 220

Attempt any ONE of the following questions (Activity}):

An examination consists of 5 multiple choice questions, in each of which the candidate
has to decide which one of 4 suggested answers is correct. A completely unprepared
student guesses each answer completely randomly. Complete the fullowing activity to find
the probability that,

(a) the student gets 4 or more correcl answers,
(b) the student gets less than 4 correcl answer.

Solution: Let X = No. of correct answers
P = Probability of guessing a correct answer
tp= 4"
Heren=5
#X=~Bn, p
For binomial distribution,
p{x) = oc, p* "
(a) Probability that the student gets 4 or more correct answers -
= P{X 2 4)
=PX=4)+P(X=5




i)

(b) Probability that the student gets less than 4 correct answers -

=P (X <4)
=1-PX=4)

Following table shows the amount of sugar production (in lakh tonnes) for the year 1931

fo 1941

Complete the following activity to fit a trend line by method of least squares:
Solution: Let y; be the trend line represented by the equation y, = a + bt

Letu=

t=emind el

Year | Production | Year | Production
1931 1 1937 B

1932 4] 1938 (3]
1933 1 1939 5
1934 2 1940 1

1934 2 1940 1

1935 3 1941 4

1936 2

h b J
mid value = 1936 and h =1

Year (t)

s
2

)

uy,

1931

25

1932

st
un

1933

1934

1935

1936

1937

1938

1939

1940

1941

O

e had b S Bl SO L O B
-

]
sl
e

u=0

ul=110

-5
0
3
4
-3
4]
8
12
15
4
20

The equation of the trend line becomes,

yl =ﬂ-1+b|u'

Two normal eguations are,

v B EE B

)

Ty =nay + by DU e (2
Yuy, =ay Yu+by B cove v @)
From equation (2), we gt

iy =

From equation (3], we get

b]z

The equation of trend line is given by

Yr =

ER
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S.Y.J.C ( Preliminary Exam)

Subject: Secretarial Practice Marks: 80  Date :04-01-2024 (Duration 3.00 hrs)

Q.1- (A) Select the correct answer from the option given below and rewrite the statements,
1- A Stock Exchange is where stock brokers and traders can buy and scll
a) gold b) securities <) goods
2- Dividend is paid first to shareholders
a)Equity b) Preference ¢) Deferred
3- Company has to appoint to protect the interest of depositors.
a) Debentures Trustees b) Deposit Trustees ¢) Credit Rating Agency
4-The have the power to allot shares
a) Director b) Board of Directors  ¢) Company Secretary
5- Dividend is cannot be declared out of
a) Capital b) Profit ¢) Reserves
B- Match the pairs

Group A Group B

1 | Debenture Trustees New issue market

2 | Depositors Investment decision

Primary Market Agreement

el o | =

Creditors

3
4 | Capital budgeting
5 | Bonus Shares ¢ | Protect the interest of Debentures holders

Protect the interest of shareholders

g | Capitalisation of Profit

C- True or False

1- Company has to create a charge on its assets when it issues secured debentures.

2- Equity sharcholders enjoy fixed rate of dividend.

3- Equity shareholders enjoy ownership of a company.

4- Finance is related to money and money management.

5- A broker is a dealer in stock exchange who carries on trading of securities in his own name.

(5)

(3)

(5



D- Write a word or term or a phrase which can substitute for the statement

I+ A specific place where trading of securities is arranged in an organized method.

2- Credit extended by the suppliers with an intention to increase their ales.

3- Transfer of shares due to operation of Law.

4- Authority which has power to issue debentures.

3- The Shareholders to whom the bonus shares are issued.

Q.2- Explain the following terms/concepts (any 4) (%
|- Forfeiture of shares

2- Private Placement

3- Redemption of debentures

4- Overdraft

5+ Commercial bills

6- Broker

Q.3- Study the following case/situation and express opinion (any three) 9
|- The Balance-sheet of a Donald Company for the year 2018-19 reveals equity share capital of Rs.25,00000 and
retained eamings of Rs. 50,00,000 o

a) Is the company financially sound?
b) Can the retained eamings be converted into capital?
¢) What type of source retained eaming is 7
2- DDS financial plans to raise Rs_10 crores by issuing secured, Non-convertible debentures. However, as per the
Articles of Association, the board of directors have authority only 1o raise upto 5 crores. They are also considerin|
whether to go for private placement or make public offer. Please offer. Please advise them on the following-
a- What can be the maximum tenure of the debentures to be issued?
b-1s the proposed issue within the borrowing power of the board?
c- Within what period should company issue Debenture certificate?
3- Joy Lid. Company is a newly incorporated company . It wants to raise capital for the first time by issuing equit
shares.
- Shuuld‘ir.}a to primary market or secondary market to issue its shares?
b- Should it offer its shares through public offer or rights issue?
c-What will be the issise of Equity shares by Joy Ltd. Co. Called as, IPO or FPO?

4- Mr. Rohit an individual investor, invests his own funds in the securities. He depends on investment income anc
does not want to take any risk. He is interested in definite rate of income and safety or Principal.

a- Nume the type of security that Mr. Rohit will opt for.

b-what does he recsive as return on his investment?

c-The return on investment which he receives is fixed or fluctuating ?



Q.4- Distinguish between (any 3)

1- Initia! public offer and further public offer.
2- Share and debentures.

3-Fixed capital and working capital.

4- Right shares and Bonus shares.

5- Interim Dividend and Final Dividend.

Q.5- Justify the following statements (any two)

1- Equity shareholders are real owners and controllers of company.
2- A private company can collect deposits from public.

3- Dividend is paid out of profit of the company.

4- Equity share capital is risk capital.

Q.6- Attempt the following (any 2)

1- Draft a letter to debenture holders informing him about redemption of debenture.

2- Write a letter'to the shareholder regarding issue of bonus shares.
3- Drraft a letter of thanks to the depositor of a company.

().7- Answer in brief (any 2}

1- Explain any four advantages of Depository system lo investor.

2- State the content of shares certificate.

3- State the features of Bonds.

Q.8- Define Preference shares what are the different types of preference shaves
OR

Define Debenture what are the different types of Debentures

(12)

(8)

(10)

(8)

(8)
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Application Based Test
Subject: Secretarial Practice Muarks: 20 Date : 4-1-2024 (Duration : 1.00 hrs)
Name of Students : Roll No Div
Q&-_Ennwt the underlined word and rewrite the following sentences : (4
1) Retained earnings is an external sources of finance

Ans:

2) Deposit is a long term source of capital
Ans :

3) Dividend must be paid within 60 days of its declaration.
Ans |

4) A Bear Expects the prices of shares to rize in future.
Ans

Q.2- Complete the sentences. (4)
1) When applications received are more than the number of shares offered, it is called as

2) Secured debenture should be redeemed within

3) Dividend is recommended by

4) Central Government is a borrower in the Money Market trough the issue of

Q.3- Arrange in proper order. (3)
1- a) Dividend warrant Ans ., (a) N
b} Letter of payment of Dividend (b
¢) Issue of shares Centificate (c)
2- a) Share Certificate Ans. (a)
b) Special Resolution (b}
¢) Letter of Conversion (c)
3-{a) Letter of Redemption Ans.(a)
b) Debenture Redemption form (b) -

¢) Redemption of Debentures (c)



(Q.4- Study the following case/ situation and express your opinien. (any three out of four) (
1- Ivana Co.ltd. Capital structure is made up of 10 Lakh equity shares having face value Rs. 10 each. T
company has offered to the public 4 takh equity shares and out of this , the public has subseribed for 3 Lak
equity shares.

a) How much is an authorized capital in terms of value?

Ans

b) How much is subscribed capital in terms of value ?
Ans

¢) How much is issued capital in terms of value 7
Ans

7. The Board of Directors of Unix Ce. Itd. which is a listed company recommends a dividend Rs.15 per sh

=,
to be paid in cash. )
a) Is it justified 1o pay the dividend first to its preference shareholders and then afier to Equity sharcholders

Ans

—— mi—

b) 1s the AGM required to approve the sume ?
Ans

—— _—

¢) Can the company pay dividend in cash ?
Ans

3. Mr. Raj is a bondholder of ABC Co. Ltd. Company has issued it for a period of 10 years.
a) What is the status of Mr. Raj in ABC Co Lid?
Ans

_!J

b) What kind of return on investment in bonds, Mr. Raj will ger?
Ans

¢) Can company allot some shares to Mr.Raj on maturity dute instead for repayment?
Ans




: worih Rs.5 Crores to the public for a period of 3 years.
n the management of the company?
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SYJC ANNUAL EXAMINATION 2023-24 1 hour
5.01.2024 HEALTH & PHYSICAL EDUCATION | 25marks
Q.1. Fill in the blanks. (5 marks)
1. Circuit training consists of at least exercises.
2. Obesity is the excessive of in the body.
3. Yoga is generic term for a physical ____ and spiritual discipline.
4. Filling of the lungs with air is .
5. Orpanization has declared obesity as a disease and a disability.
).2. Match the columns. (5 marks)
Group “A” Group "B”
1) Diet for strength A | Boxing
2) Dhyan Chand Award B | Life time contribution to sports development
3) | Dronacharya Award C | Outstanding performance in sports & games
4) Shiv Chhatrapati Award D | OQutstanding Coaches in sports & games
5) Arjuna award _ _E Whole mlk, hansna, apricot,eggs.elc.
F | Cash prize Rs3 lakh
Q.3. State the following statements are “TRUE" or “FALSE” (5 marks)

1. The official height of the hurdles set to 3 feet for women.
2. The FIFA Football world cup 2022 is won by Argentina.
3. Heart rate can be measured using mobile fitness.

4.Relay is a team events with 4 runners running.

5, Triple jump is also known as hop, step jump.

Q. 4. Answer in one senfence,
1.In which year was the first modern Olympics conducted?

(6 marks)

2 What is the immediate source of energy for anathlete?
3.What is screen time? -
4.What is the total number of nations that participate in the Commonwealth Games?
5.The 2018 inaugural Khelo India Youth Games was conductedin_____ .

6.The firsi Asian games was held in the year :

Q.5. Answer the following.
1.Explain the definition of health given by the World Health Organization.
2. What is doping? What are the side effects of doping?

(4 marks)

Yo K"
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Anjuman-i-Islam’s
AKBAR PEERBHOY COLLEGE OF COMMERCE & ECONOMICS
M.S.All Road, Do Taaki, Grant Road (E}, Mumbai-400 008,

S.YJ.C( Preliminary Exam)
Subject: Economics Marks: 80 Date :09-01-2024 {Duration 3.00 hrs)
Notes :-
1) All questions are compulsory
2) Draw neat table/dingrams

3) Figures to the right indicate ful] marks
4) Write answer to all main questions on new page
Q.1- (A) Complete the following statements. (5)
1) Whole economy is studied i
&) Micro Economies
b} Macro Economics
¢) Econometrics
d) Natural Sciences
2) The cost incurred by the firms 1o promote sales
a) Total Cost
b) Average cost
¢} Marginal cost
d) Selling cost
3) When Marginal utility is negative total utility is
) Rising
b) Not Changing
¢) Falling
d)Zero
4) Demand for pen and Ink is
a) Comparatitive
b) Indirect
€)Complementary
d) Composite
5) Purchase of goods and services by one country from another country
a) Enterpot Trade
b) Import Trade
¢) Export Trade
d) National Trade




B- Find the odd word out :
1) factors of production : Profit Labour, Capital, Entrepreneur.
2) Types of Bank Account, Recurring Account , Current Account, Saving Account , D-mat Account
3) Air, Water, Sunlight, Gold
4) Types of Simple Index Number :

Laaspepre’s index number, Price Index Number, Quality Index Number, Value Index Number
5) Transfer Income ; Pension, Unemployment allowance, wages, Gifts
C- Assertion and reasoming questions (5
1) Assertion (A) :- Supply is a relative term.

Reasoning (R) Supply is always expressed in relation to price, time and quantity
Oplions :-
1) (A) is true, but (R} is false
2) (A)is false, but (R) is true
3) Both (A) and (R) are true and (R) is correct explanation of (A)
4) Both (A) and (R) are True and (R) is not the correct explanation of (A) -
2) Assertion (A) :- Double counting leads to lower estimates of national income
Reasoning (R} : Due to double counting, the value of a single commodity is calculated twice in the national
income megsurement.
1- Options : 1) (A) is True, but (R) is false
2) (A) is false but (R) is true
3) Both (a) and (R) are true and (R) is the correct explanation of (A)
3) Assertion (A) : In perfect competition, Price is Determined by the forces of demand and supply.
Reasoning (R) : The number of buyer and seller is so large that one person cannot influence prices.
'U'plinng ;
(1) A is True, but(R) is false =
(2) A is false, but (R) is True
3) Both (A) and (R) True and (R) is the correct explanation of (A)
4) Both (A) and (R) are True and (R) is not the correct explanation of (A)

J/

4) Assertion (A) :International trade leads to division of Labour and Specialisation.
Reasoning (R) : India's national trade is not increasing.

Options

1) (A) is True , But (R) is False

2) (A)is False, But (R)is True

3) Both (A) and (R) are True and (r) is not the correct explanation of (A)

4) ) Both (A) and (R) are True and (R) is not the correct explanation of (A)



%) Assertion (A) : In monopoly use wise price can be discriminated Reasoning
Reasoning (R) : In Indis, the gas cylinder is priced the same for domestic and commercial use .
Option :-
1) (A) is true but (R) is false
2) (A) is false , but (R) is True
1) Both (A) and (R) are True and (R) is the correct explanation of (A)
4) Both (A) and (R) are True and (R) is not the correct explanation of (A)

D- Give an Economic term :- | (5)
|- The capacity of a commodity to satisfy human wants.

2- A Statistical tool 1o measure changes in an economic variable over a period of time.

3- Factor Payment received by land in the form of money.

4- Deposits withdrawable on demand.

5. The market where there are few sellers

Q.2- (A) Identify and explain the following concepts: (any three) (6)
|- England imported cotton from India made readymade garments from it and sold them to Malaysia.

2- Ashok paid the tax on his income and property.

3- Fall in price of sugar by 50 % result in 50 % rise in demand

4- Anita receives monthly pension of Rs.15,000 from the state govemment

5- There are many firms producing soaps in India.

(B) Distinguish between (any three) (6)
1- Microeconomics and Macroeconomics

2- Public finance and private finance

3- Perfect competition & Monopoly

A- Contraction in supply & Expansion in supply

5- Direct tax and Indirect tax

Q.3- Answer the following (any three ) (12)
|- Explain the functions of commercial banks

2- Explain features of oligopoly

3- Explain the concept of Total cost and Total Revenue

4- Explain the types of utility

5- Explain the outlay method of measiring elasticity of demand.



her you agree or disagree with the following statements (any three)
g marginal utility is based on many assumptions.
ey market plays an important role in India.

3- There are no theoretical difficultics in the measurement of national income
4- Gross National Product and Gross Domestic Product are same concepts
5- Obligatory function is the only function of the Government

Q.5- Study the following table, figure, passage and answer the questions given below it (any two)
I- Observe the following table and answer the questions given below it :

Price in (Rs) Individual Supply schedule -
10 60
20 R0
30 100
1- Define Individual supply

2) Draw individual supply curve with the help of the given individual supply schedule
%= Identify the price elasticity of demand from the following

diagrams :
m N
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¥

3) Read the given passage and answer the questions -

Mona visits a shopping mall near her residence . She shops for monthly groceries which include rice,
wheat, suger, cooking oil and pulses. She purchases additional quantities of sugar much more than her monthly
requirement anticipating that prices may rise in the coming days due to festivities,

stipenor quality tur dal,

Q.1- Identify the kind of good with reference to low quality tur dal (1)
. (1)

Q.2) ldentify the exception to the law of demand in the given passage with reference to purchase of additional

Quantities of suger much more than monthly requirement.

Q3) Express your personal opinion based an the above information (2

Q.6- Answer the following questions in detail - (any two) (16)

) Explain the concept of price elasticity of demand and its types.

2) Explain the practical difficulties in the estimation of national income

3) Explain the Law of demand and its exceptions

i



Anjuman-i-Islam’s
AKBAR PEERBHOY COLLEGE OF COMMERCE & ECONOMICS
M.S.All Road, Do Taaki, Grant Road (E), Mumbai-400 008.

S.Y.L.C (Preliminary Exam) ABT

Subject: Economics  Marks: 20 Date :09-01-2024 {(Duration 1.00 hour)
Question <1 Choose the correct option := (4)
1) Method adopted in Micro Economics analysis
a) lumpling method b) aggregative method ¢) Slicing method d) inclusive method

options:- | }ac.d 2) abd 3yonlyc 4)only a
Ans :
2) Demand curve is parallel to X-axis in case of

a) Perfectly elastic demand

b) Perfectly inelastic demand

c) Relatively elastic demand

d) Relatively inelastic demand
Options ; 1) only a 2)only b J)onlyc 4)only d
Ans :
3) Types of foreign trade are

a) Import trade b) Export trade  ¢) Entrepot trade d) Imternal trude
Options :--a)aandb 2)a,b,andc 3)a,b,candd 4)None of these
Ans :

4) Statement that highlight the significance of index numbers :-
a) Index numbers are useful for making future predictions
b) Index numbers helps in the measurement of inflation
¢) Index numbers helps to frame suitable politics
d) Index numbers can be misused
Options:- a)b,c&d 2)a,c,andd 3)a,b,andd 4)g bandc
Ans :
Q.2- Find the odd word out: (4)
1) Factors of Production : Profit , Labour , Land, capital.
Ans :
2) Features of monopoly: Price makers Entry barrier, Many sellers, Lack of Substitute.
Ans |
3) Theoretical difficulties while caleulating National Income: Transfer Payment, [llegal Income, Uinpaid services

Problem of Double counting.
Ans:




4) Non tax revenue sources: Fees, Gifts, Grants, Goods and Service tax (GST)
Ans ;

Q.3- Complete the correction (4)
1) Transportation of goods : utility s Teachers teaching I_’——_x\
2) Land : Rent33[ == 1 wages

I 3

3) Total cost ; TFC + TVC3) Average costgf
4) Money martket } Short term funds 33 f'h—_—-ﬂ‘_’-_j * long term funds.

) 1

Q.4- Give Economics Term : ' (4)
1) Two or more goods are demanded at a time to satisfy one want.
Ans

2) The year for which Index number is being prepared.

Ans

3) Import value is greater than export value.

Ans : =T

4) Market in which producers are price taker.

Ans :

5

Q.5- Study the following situation and express your opinion. (4

In India, RBI has the Sole right to issue currency notes the One rupee note and coins of all denomination
issued by the ministry of finance of the govemment of India, but their distribution is undertaken by R
Commercial bank is people’s bank, the central bank is a banker to the government central bank performs differ
function for the government.
Question -
1) What types of currency issued by R.B.L
Ans:

2) Give your opinion about R.B.L
Ans !




2) Study the following situation and express your opinion

Foreign trade and economic growth are inter related when countries foreign trade is positive ( Export  Impor
it become as an engine of growth, Excess import of consumer goods badly affects the growth of industrial sectos
the country .
1) What do you means by positive foreign trade
Ans:

2) Do you think import is beneficial to develeping countries?
Ans :




~i-Islam’s
AKBAR PEERBHOY COLLEGE OF COMMERCE & ECONOMICS
M.5.All Road. Do Taakl, Grant Road (E), Mumbai-400 008

S.Y.J.C ( Preliminary Exam)

Subject: Book Keeping & Accountancy  Marks: 80  Date :10-01-2024  (Duration 3.00 hrs)

0Q.1- (A) Select the correct options and rewrite the sentences. (5)

1} A Statement showing financial position of the business is called as :
a) Trail Balance b) Capital ¢) Balance sheet

2) The set of programme that directs the computer to perform desired task is

2)Software  b) Programme ¢) Application
3) The elosing balance of Receipts and payments account usually represents balance
a) Surplus b) Deficit ¢} cash and bank
T 4 Deathisa compulsory
a) Admission b) Retirement ¢) dissolution
5) The due date of the bill drawn for 2 month on 23rd November 2019 will be
a) 23rd Jan 2020 b) 25th Jan 2020 ¢) 26th Jan 2020
B- Write a word/term/phrase which can substitute each of the following statements (5)
1) Old Ratio less New ratio
2) Donation received for a specific purpose
3) The Shares on which dividend is not fixed
4) Account opened for revaluation of assets and Liabilities
5) Debit balance of Trading Account
C- Find out odd one (5)
1- Creditors, Land & Building. General Reserve , Capital
2- Surplus, Deficit, Net Profit, Capital Fund.
3) Wages, Salary, Royalty, Import duty.
4) Electricity bill Trade bill, Inland bill, Foreign bill
3) Trading Account, Profit & Loss Account, Partner's Capital Account, Balance Sheet
D- Calculate the Following (35)
|- When depreciation is Rs.7300 and closing balance of Library books is Rs.92500 Calculate the opening balance
of Library books
2) A, B, and C are partners sharing profits in proportion of 1/2, 1/3,and 1/6 . If Mr.A retires, what will be the new
profit sharing ration?
3) 12 % p.u internet on lnvestment Rs. 100,000 for 6 months, Caleulate internet
4) If gross profit of Business is 30,000 and sales is Rs.120,000 caleulate Gross Profit Ratio.



-

5) Veena who had accepted Sudhas bill for Rs.28,000 was declared bankrupt and only 50% could be recovered
from her estate. Calculate the amount of bad debs.

Q.2- Vasu and Viraj Share Profit and Losses to the Ratio of 3:2 respectively their balance sheet as on 31 st

Narch 2019 was as under (10)
Balance Shest as on 315t March 2019
[ Liabilities Amount | Assets | Amount
Sundry Creditors 45,000 | Cash at Bank 750
General Reserve 30,000 | Sundry debtors 66750
~ Capital :- Stock | 25,500
Vasu 1,08,000 | Tnvestment 36,000
Viraj 72,000 | Plant 90,000
Building 36.000
2,55,000 2,35,000

They admit Hari into Partnership on 1-4-2019 the terms being that:

1) He Shall have to bring in Rs.60, 000 as his Capital for 1/4™ share in future profits
2) Value of Goodwill of the firm is (o be fixed at the average profits for the last three years
The iw

2009-10 Rs. 48,000
2010-11 Rs. 81000
2011-12 Rs.73500

Hari is unable to bring the value of the Goodwill in cash. It is decided 10 rajse the goodwill in the books of
Bccounts.

3) Reserve for Doubtful Debts is 1o be created at Rs. 1,500,

4) Closing stock is valued at Rs.22,500

5) Plant and Building is to he depreciated by 5%

Prepare Profit and Loss Adjustment Afc, Capital Accounts of Partners and Balance Sheet of the new firm,
OR

Kale, Gore and Pandhare were partners sharing Profit and Losses in the ration 3:3:2. Their Balance sheet as on 7t
March 2018 is as follows

Liabilities Amount | Assets | Amount | B
Capital Account Building 10,000
Kale 11,000 | Plant & Machinery 10,700
Gore 15,000 | Live Stock o 10,000
Pandhare 8,000 | Debtors 5,000
Creditors 8.900 | Stock 6,600
Bill Payable 2,000 | Bank 6,600
Reserve Fund 4,000
48,900 48,900




On Ist April 2018 Mr. Pandhare retired from the firm on the following terms
|- Assets to be revalued as stock Rs.6300, Plant and Machinery Rs.10,000 Live Stock Rs.10,200

2- Goodwill of the firm is to be valued ar Re.4,000, however only Pandhare's share in it is to be raised in the book
and written off immediately.

3- R.D.D 1o be maintained at 10% on debtors.

4- Rs.100 to be written off from creditors

3- The amount payable to Mr. Pandhare to be transferred to his loan account.

Prepare :- Profit and Loss adjustment account, Partners Capital Account , Bntnune Sheet of New Firm.

Q.3- Rajiv and Sanjeev are partners sharing profits and Losses equally. They decided to dissolve their firm

on 31st March 2019, The Balance sheet of the firm on 31st March 2019 was as under, (10)
IT.inhilitiﬂ Amount | Asgels Amount

| Reserve Fund 8,000 | Building 20,000
Creditors 12,800 | Furniture 6,000

Bills payble 7,200 Debtors 18,000

apital Afe's Stock 20,000
Rajeev 20,000 | Bills Receivable 2000
Sanjeev 24,000 | Cash 6,000

72,000 72,000

The Assets realised as under:
Stock Rs.18.400, Debtors Rs.16,600, Bill Receivable Rs.1980, Sanjeev agreed to takeover the building for

Rs.18,000 and Rajeev agreed to take over the furniture for Rs.5,400. The realisation expenses amounted to Rs.600
Pass the Journal Entries of the firms
OR
Amol druws a bill on Atul for Rs.24,000 on 6th Oct, 2019 for 3 months. Atul accepts the bill on the sam
date. Amol sends the bill to bank for collection on 20th Oct 2019. Before due date Atul finds himsel
unable to make the payment of bill and request Amol to renew it. Amol agrees to the proposal on conditio
that Atul Shuold Pay Rs.10,000 in cash along with interest Rs.800 and sccept a new bill for 2 months fo
the balance. Atul retired the bill on 12th Jan 2020 by paying Rs.13500.Give joumnal entries in the books o

amal.



(8)

Q.4- Shraddha Lad. issned 100000 equity shares of Rs.10 each at aa premium ofg Rs. 2 per share payable

Rs 3 on Application

Rs.5 on Allomment

Rs.4 on first & Final Call
Applications were received for Rs1,20,000 equity shares and Pro-rata allotment was made to all the applicants.
The excess application money was adjusted with allotment.
Vinita who was alloted 200 shares failed to pay first & Final Call and her shares were forfeited.
Pass Journal Entries in the books of Shraddha Ltd.

OR
Explain the importance of computarized accounting system ' (8
Q.-5 Rakesh, Mahesh and Mukesh were partners sharing prifits and Losses in the ration 3:2:1 respectivel
Their balance sheet as on 31st March 2019 is as under
Balance sheet as on 31st March 2019

Liabilities Amount | Assels Amount
| Capital Ale: | Plant & Machinery 140,000 |
Rakesh 30,000 | Motor Truck 20,000 N
Mahesh 20,000 | Debtors 16,000
Mukhesh T i 20
Creditors 8,000 Investment 18,000
Bank Loan 20,000 | Bank 14,000
Bills Payable 18.000
1,06,000 1,06,000

Mukesh died on 30th June 2019 and the following adjustment were made
|- Assets were revalued as :- Plant & Machinery Rs 44,000, Motor truck Rs. 18,000, Investment Rs. 17,000

2- All Debtors were good.

3- Goodwill of the firm valued at two times the average profits of the last five years. No Goodwill account &
shown in the books of the firm. :
4- Mukesh's share of profit up to his death to be calculated on the basis of avernge profits of last two years

5- Five years profits were | year Rs.6,000 IT Year Rs. 11,000, 1Tl Year Rs.7,000, IV Year Rs.12,000 , V 1
Rs.24,000 respectively

Prepare : Profit and Loss Adjustment Account, Partners Capital Accounts, Balance Sheet on 1st July 2019

OR



Following is the balance Sheet of Param Company Ltd. as on 315t march 2019 and 31st March 2020

Liabilities 31-3-2019 | 31-3-2020 | Assets 31-3-2019 | 31-3-2020
1 250,000 |3.70,000 | Fixed assets 2,80.000 [ 4,40,000
60,000 1,00,000 | Current assets 1,30,000 | 1,20,000
1,00,000 | 90,000
4.10,000 | 5,60,000 410,000 [5,60,000 T

You are required to prepare comparative Balance Sheet of Param Company Litd.as on 31st March.2019 anc
March 2020.

J :

Q.6- From the following Receipts and Payment Account amd Additionnl information prepare inconu
Expenditure Account for the year ended 31st March 2019 and balance sheet as on that date.
Receipts and Payments Account for the year ended 315t March 2019

Liabilities 31-3-2020 | Assels 31-3-2019
A To Balance bid 3,000 By Salaries 4,000
To Subseription 5.000 By Printing & Stationery 1,000
To Donations (Revenue) 5,000 By Commission 500
To Entrance fees 4,000 By Rent 2000
To Interest 1,000 By Electric Charges 1,500
By Fumiture 8,000
By Balance o/d 1,000
18,000 18,000
Additional Information
- 1) Outstanding Rent was Rs.200

2) Subscription includes Rs. 1000 as subscription received in advance and subscription outstanding for current
was Rs.500

3) Depreciation Fumniture (@ 8% p.a.

4) 50 % Entrance fees should be capitalized

5) Capital Fund was Rs.3,000



(12)
Q.7- Rucha and Juili are partners sharing Profit and Losses in their Capital Ratio. From the following
Trail Balance and Adjustments you are required to prepare Final Accounts.
Trail Balance as on 31st March 2019

Purticular | Dehit Particular Credit
Purchases 48,000 Capital A/c

Trade Expenses 3,000 Rucha 80,000
Salaries 4,500 Juili 40,000

Wages and Salaries 2,800 Sundry Creditors 22,000
Advertisement (2 Years) | 4,000 Sales 148,000

Sales Returns 8.000 R.D.D 1,200

Freehold property 23.000 Bills Payable 12,000 ]
Office Rent 5,000 Purchases Return 6,000

Motor Van 40,000

Stock (1/4/2018) 89.500

General Expenses 2,500

Sundry Debtors 62000

Coal, Gas, Fuel 1,000

Carriage Inward 800

Carriage Outward 1,300

Plant and Machinery 13,800

3,09.200 3,090,200 Al
Adjustments:-

1- Closing Stock is valued at Rs, 88,000 (Cost Price) and Rs.90,000 (Market Price)

2- Rucha and Juili withdrawn Goods from business Rs.3000 and Rs.2000 respectively for their Personal use.
3- Depreciate Motor Van by 5% and Plant and Machinery by 7% &
4- Reserve for Doubtful Debts on Debtors (@ 5 % is to be created.

5- Quistanding Wages Rs.800 :

6- Goods of Rs.6000 were purchased on credit and eredit sales Rs.6000 but no entry was found in the books of

Account.
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Q.1- A. State true or False with reason ; (3)
I= Retirement of bill means payment of the bill before due date :

2- "Not for profit " coneern have Profit motive,

().2- Select the correct option & rewnite the sentences. (3)
1- Death is a compulsory

a) dissolution b) admission c) retirement ) winding up
2- The set of programme that direct the computer to perform desired taskis

a) Software b) Progrumme ¢) Application d) Hardware
3- If shares are issued ot their face value it is called as issued at

a) Premium b) Discount c) Par d) None of these
4-The bill drawn on 12th June, 2023 at two months, would be pavable on ;

a) 12th August 2023 b) 14th Aogust 2023 ¢) 15th Augest 2023 d) 16th August 2023

5- Assets and Liabilities are transferred to realisation account at their values.
o) market b} Purchase ¢) sale d) book
Q.3- Caleulate the following : (3)

1- Salary of Rs. 1,20,000 paid for 6 months in a year. Calculate outstanding salary.

2- Calculate 10 % p.a. Depreciation on fumiture of Rs 2,00000 for three months.




3- A & B share profit & Losses in the ration of 3:2 . They admitted P with 1/4th Share in future profit calculate
new profit sharing ratio.

4- Calculate Gross Profit Ratio : Sales Rs. 9,00,000. Gross Profit ratio 20% on cost,

5- Undervaluation of closing stock by 10 % closing stock was Rs90,000. find out the value of closing stock.

Q.5- Prepare a specimen of "Bill of Exchange". (5
Mr. Akash sane 42, Sagar bandar Road, draws a three months bill on Mrs. Megha Kale, Vishram ™
Sangli for Rs. 16,500 on st December 2023 which was accepted on 4th December, 2023.
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Q.1- (A) Select the correct option and rewrite the sentences: (5)
i- is the function which support to activate the plans with the help of employees.

a) Staffing b) Directing  ¢) courdinating
2- Scalar chain means the hierarchy of from the top level to the lower ievel for the purpose of

communication
&) discipline  b) uniry c) authority
3- Enfrepreneur means to

a) undertake  b) enterprise ¢) businessman
4-In enline shopping , customers put the product in the

4) Shopping mall b) Shopping cart ©) Shopping bag
5- is celebrated as world consumers Day.
1) 24" December b) 26 January )t 5" March
B- Match the correct pairs ; (3)
Group "A" Group "B"
a) Scientific Management 1) Agro Tourism
b) Planning 2) Detail Programme
¢) Outsourcing 3) F.W.Taylor
d) Business Fihics 4) Business Process outsourcing (PBO)
€) The Idea of bringing urbun residentto | 5) Branch of social Scionce =
agriculture farm
6) Trade Mark
7) 18I
8) To Earn profit
9) Henry Fayol Nl
10) Group Efforts i __J
C- State whether the following statement are true or False (3)

I- The Principles of Management are universal in natures,

2- Overdraft facility is available for savings bank accountholder

3- Dishonest advertisement can be appreciated by customers in the long run,
4- Lok Adalat can rightly be described as " people court”

5- Regulated market operates according to focus of demand and supply.



—— —

D- Correct the underlined word and rewrite the statement.
1) Staffing is concerned with machines

2) Decentralisation means Centralisation of power and suthorities at a specific position
3) Whole life policy is taken for a specific period
4) National Commission entertains complaints where the value of the goods or services paid as consideration does
not exceed Rs. 1 Crore
3) Br:n_-::ll.ng is the process of classification of products according to similar characteristics and /or quality.

Q.2- Explain the following terms/concepts :(any four) (%)
I- Lok Adalat

2- Social Responsibility

3- Controlling

4- Qutsourcing

3= Dehit Card

6- Product

Q.3- Study the following case/situntion and expiress your opinion (any two) (6)

I- Mr. Jagan is a salaried person He want to take policy for his two children which assures them protection as well
as completes their financial needs ones they become major by age.

1) Suggest Mr. Jagan a policy which can satisfy requirements of his children.

2) Who are beneficiaries of policy?

3) In above case which insurance Principles is involved,

(2) Mr. X deals in import and export business so he needs differnet foreign currencies. for the expansion of his
business, He borrow money from bank, He invest his funds in the equity shares.
1) Name the market from where Mr. X borrows mongey.

2) Name the market where Mr. X invest his funds

3) Which type of currency is required for international market ?

3) Mr. Hari is young M.Sc (Agri) degree holder, Mr. Sitaram is commerce gradunte, Mr. Hari is willing to start
Agro Tourism centre at his village . Mr Sitaram is willing to work as accountant in privale company

1= Find out desires of Mr. Sitaram

2- What is desire of Mr. Hari

3- Which qualification is acquired by Mr. Sitaram ?



the following (any three) (12)

2- Rail poet and Road Transport
3- Fire Insurance and Marine Insurance
4 Swste Commission and National Commission

Q.5 Answer in brief (any two) (8)
1- Explain important of planning’

‘2 Explain characteristic of an entrepreneurs

3- Explain function of marketing in brief

Q.6- Justify the following statements (any two) (8)
|- Principles of management are flexible in nature
- 2- it is easy to set up e-business
3+ Online transaction is done with the help of the internet
4- Consumers have many responsibilities

Q.7- Attempt the following (any two) (10)
1- Explain any five principles of modern manapement.

2- What are the function of warehouses

3- What are sacial responsibilities of commercial organisation towards consumers?

Answer the following (any one)

Q.8-Define Bank Explain secondary functions of Commercial Bank. (8)
Or
~ Explain the importance of marketing to the society and firm.
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Q.1- Correct the underlined word and rewrite the following sentences. {4)
|- The Principles of Management are gigid in nature

2- Planning is last function of management

3- Road Transpod is an expensive mode of transport

4- Supplier is a king of the market

0Q.2- Complete the sentences (4)
I- Giving of distinct name to one's product is called as

2- is the apex financial institution in branding industry in the country
3- The tasks of getting the things done by others is known as
4. is a function of company the actual performance with standard performance

().3- Find the odd one (3)
1- Price, People, Promotion, Product

2- NABARD, RBI, SiDBI, EXIM

3= District Judge, High Court Judge, Commissioner, Supreme Court Judge

0.4- Study the following case/ Situntion and express your opinion (any three) 9)
1- Mr. A purchases goods from nearest shop, Mr.B purchases mobiles from Japan.Mr. C of Pune purchases
electronic goods from Delhi,

(a) From which type of market does Mr. A purchase?

Ans,

(b) Neme the type of market from where Mr, B deals.

Ans .

c) State the type of market from where Mr. C purchases goods.

Ans,

2- Mr. Ansh made his payment by cheque, while Mr. Vansh made his payment by fund transfer.

a) Whose payment is faster?
Ans.
b) Whose payment is related to traditional business?
Ans.




¢) Whose payment is related to e-husiness?
Ans .

3- Mr. Raj is a businessman. He has his own factories in Pune and Nashik. He lives in Pune with his wife and twi
daughters aged 5 and § years.

a) Can Mr. Raj take a life insurance policy for his wife and two children?

Ans,

b) Can Mr. Raj take a marine insurance policy for his factories?

Ans . =

¢) Which type of insurance should Mr. Raj take for protecting his factories from loss due to fire?

Ans,

4- Saroj Sweets is a renowned name for quality sweets since 1935, Harshada the owner has decided to Increase |

business by opening the new branch in another area. For this , she has appointed Mr. Pratap to take care of all th
resources required in terms of Men, Materials and Money Mr. Pratap in turn has appointed Mr. Rakesh to look
after employees selection and recruitment, =

a- Who is responsible for planning function?
Ans.

b- Who is responsible for organizing various resources?

Ans.

¢~ Who is responsible for staffing?
Ans.




